Counting in 6,7 and 9

Complete the following sequences:

a___ 12 18 24 30 il 126 120 ___ 108 102
b) 49 42 25 14 gd 99 108 126 144
cl 45 b4 B3 a1 hy 112 126 133 140

d) 90 72 bb &0 i 180 186 192 198

el bb 70 77 9 P210 203 189 182
Continue the folowing sequences:

k] 35 41 47

211 20

m) 40 47 54

) 100 106 112

o) 99 106113

p) 300 291 282

Q) 172 166 160

ri 3140 49

g) B 79 72

93

Choose a starting

¢ Challenge” o=

number and count in bs, 75 and 95 from that number. What is

the difference between each number you end up at? Can you explain why?




